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$ ruby calcp.rb

? -2A(3A4)

type "Q" to quit. = -2417851639229258349412352

? 4A2A3
2 243 = 65536
=38 ? -4A(2A3)

= 65536
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regexp("Hello to the the world", /(¥w+ )¥1/)
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® A#ES (right associative) T$H %
a 2/374 = 2A(374)

class calcp
prechigh
right 'A'
nonassoc UMINUS
Teft '*' '/*
Teft "+' '-'
preclow
rule
target: exp
| /* none */ { result =0 }

exp: exp '+' exp { result += val[2] }
exp '-' exp { result -= val[2] }
exp exp { result *= val[2] }
exp '/' exp { result /= val[2] }
exp 'A' exp { result **= val[2] }
'("exp )" { result = val[l] }

- ex =UMINUS { result = -val[1] }
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® Ruby DK, ** TREFEKRTIZIL.
scanner [ LEEANE

| class calcp
| case str prechigh

| when /¥A¥s+/ :;gggsoc UMINUS

when /¥A¥d+/ NN
@q.push [:NUMBER, $&.to_i]  preciow

when /¥AY*¥*/ rule

@q.push [$&, $&] e P rone #/ 1 result < 0 1
when /¥A.|¥n/o

s = $&

exp: exp '+' exp { result += val[2] }

'-' exp =UMINUS { result = -val[1] }
NUMBER

| exp '-' exp { result -= val[2] }
| exp "*' exp { result *= val[2] }
Gq.push [s, s] | exp /' exp { result /= val(2] }
ehd | exp "**' exp { result **= val[2] }
| "Ctexp ') { result = val[1] }
|
|
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® RubylZ[F/\yiakh Hd, CHITEF,

rule
target: exp
| assign
| /* none */ { result = 0 }
7 exp: exp '+' exp { result += val[2] }
| exp '-' exp { result -= val[2] }
| exp '"*'" exp { result *= val[2] }
| exp '/' exp { result val[2] }
| exp 'A" exp { result **= val[2] }
| "' exp "' { result = val[1] } EHIZA-TLNAE
| '-' exp =UMINUS { result = -val[1l] } EEHERNSEHTL
| NUMBER cREBEDEEL,
| IDENT {|result = do_varref( val[0] ) } gcj)ti?%igﬁ
assign : IDENT '='|exp { result = do_assign( val[0], val[2] ) }
end
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Defaultd 72 av (& { result = result }.
{result = val[0] }(LLICRIERE) THD
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---- inner«—

Hashiz9 %24y THIHE
def initia1i€g/////////

@vtable={}

F / Rubyd LU RILE DT —4HKB15T
en

def do_assign( vname, val )
@vtable[ vname ] = val
end

def do_varref( vnarye/)/

@vtable[ vname ]“or
raise( Parseterror, "unknown variable #{vname}" )
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end
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---- footer

parser = calcp.new

puts
puts 'type "Q" to quit.'
puts
while true
puts
print '? '

str = gets.chop!
break if /q/i =~ str

begin
puts "= #{parser.parse(str)}"
rescue Parsegrror
puts $!
end
end Exception ParseError &2 H1%

Exceptiond A
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@ scannerDZEETT L

CIICERERHREAND

case str Il XFHMBTR

when /¥A¥s+/ /ﬂ/]xygy«(f)&“?@
when (N %
@q.push [:NUMBER,[ |

when /¥A¥d+/
@q.push [:NUMBER, $&.to_i]

Ruby ## 2

& B3 EROBM-HIER
@ push AV YREFERALT, BEIIICERZEMTHIEN
TED, irb(main):001:0> a = [1,2,3,4]
=>11,2,3,4]
irb(main):002:0> a.push(10)
=>[1, 2, 3, 4,10]
irb(main):003:0>

¢ potpb%‘/ REFEALT. BINDREDERENMYHT

irb(main):003:0> a.pop
=>10
irb(main):004:0> a
=>[1,2,3,4]
irb(main):005:0>

Ruby #8: /\wa
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° irb(main):001:0> h = Hash::new
=>{}

irb(main):002:0> h['apple'] = 150
=> 150

irb(main):003:0> h['banana'] = 200
=> 200

irb(main):004:0> h['lemon'] = 300
=> 300

irb(main):005:0> h

=> {"apple"=>150, "banana"=>200, "lemon"=>300}
irb(main):006:0> h['apple']

=> 150

irb(main):007:0>




